577 REEH
T [ooo) o BBEL fly ¢ gt) Rout.
L) =Lgt)  mam', b =9c) o3
Q. Lfw)-getr)=0 &)
f@hﬁ (fie) *3&)) dt =0 TH3H
Ll 29w TanE FH=g0 TERINETRR
t %3 T2z 7 ) 290 THRYT3e .
S¥ +49 KF<T32x T\
0= [, € (Seer-ger) dt = §, € (Fto-ger) dt 2.6
wI3vae 73 W) [0, T] 1 fry=9d) vy

NBre. T 7 COSLRI< klld 4

WwRE 45 FIS /L. L) =Fs) 93

T 2" RE-7 5173

Wft) e Fio 9 527 2ERM can
f =Ry &7

577 24 5 Samnk BB 2 EEFR) BT 11
BRE0 0 BASE A 1< | 7 15 RBRE TR 030 et R Hin3 .



Rl //m%mrﬂ\&)}iﬁ‘%ﬂz&)a? S

L NT Forgy e fosaoe .
BN R S P

C(E5) =X Lle™Fo)
=7\"Sl('t~7[.)Ut—7U B
B =){-'U(tf7t)-,<1in-)\(t—7t) T

ERR Ra }%E\%Lm 57°9 2 $EWE X ong .
L se 1
(') 25~1 (2 SR (3) (s-N)*

it

A

Iﬁﬁl
\r—,_
J]\
(/)——
~’_ ‘
N—
|
|
L
N——

© L"( <s’w -t T




REARMLAEER T

ZER B o Brh %%ﬁ%{r T3¢ 77’77&&@% X F3FArED .

| ﬁl&g)_j‘ (“§:—L+33“ ) zKoE .

($~2)
s-s+3 _ A B C ey
(s-2) = (s-2) N (s-2Y * S-2. <L
Cc=1, A=5 |
B-4c=-| ) 8=3 1533
A'-.ZB +4C=3 = | ‘
LY. |7 SESH3 N ooyl - A
, L ((S -2 )3 ) =51 ((92 )+3 L ((s-z)‘)-H— (8-2)
ze’tti setpaet s |
FRE R B, 77°77«éim%12m
.y S+ | 3540514 5
) FErsas P sois () S Ga D
ooy _2s+ o 3 | )
- ShESsté S+2 S+3 ’

o L*‘(_S_%%):g['( ) — L7 SLS )

-3e-e™ 3.




(2). 33‘-'53-%4':, 9 R

£

o Tsa)d Ts-0% G-y s
3s* 5s+4 -

L((s‘lP ZL((Sl)L(Sl))+3L( 1)

o ettt a3et vl
3 5 N B -S+2
C(S2)(SH ) S+ 2 SH |
' . :_‘ S 5. ) Y
S+ S™ | S¥ |
V=l .4 ~1 ’ .
- Pl ) Clas)- L gl ey
| = @ cort+2amt | B3

TR ronELRER)
LR =, TN(Ge)=9t) g,
);;’L‘*'f(*F("s’)’-G(s>) =fxq t) T3

il R (W ) thor

E F(s)= ,,,, Cerce . T LT (Rs) =amt 7%3 .
). ):’ (&= ,)l)=L"(F<s>-F<s>>

S = At *Amt TH3. IHR .




- aint *x it

Y

"

A4S ain(t-s) ds
)r C@?(”c 35)~ ce?’c ds

[_‘.?T«Qm (t~25) =S cemt ]0

y <. e-xtﬂscls 3 [)\ | -/\t+/\s ]: _;\L
| + ~;\'—2[€“)¢“'*5]:

'_(“B'S

1
2
=1 (-3 (amet)-amt) ~toxt)
e Lwt-dtent oy
BB A AR« Hut 7 ARz R .
1 5 l
o (s=A)(S-M) O3 () =1
/ - ‘ ; )\t t
% ) | (g~,\'g_‘/7>* e x e’
-t ut-s) t _ utasO-p)
=j‘o e)\s.e,u(ts.d _ fo e/xt s(A-h <ls
T t )
:[ L e,u +s(/\/4:{o :___ e/\t
) [ ( S‘(s—b\)) t*€%

f €—/\'C't/\5 I



